Multiply by Positive Powers of Ten (H)

Find each product.

449 x 103 = 6.4165 x 103 =
5.459 x 102% = 7.4 x 10! =
1.276 x 10* = 6.2455 X 10% =
1.81 x 103 = 7.12 x 103 =
454 x 10% = 2.522 x 103 =
2.0596 x 103 = 2953 x 103 =
5.3284 x 103 = 1.466 x 10* =
0.46 x 10* = 0.7 X 103 =
2.207 x 10% = 5.1 x 10 =
5.938 x 101 = 8.4 x 10! =
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Multiply by Positive Powers of Ten (H) Answers

Find each product.

4.49 x 10° = 4,490 6.4165 x 10° = 6,416.5
5.459 x 10* = 545.9 7.4 x10' =74

1.276 x 10' =12.76 6.2455 X 10% = 624.55
1.81 x 10° = 1,810 7.12 x 10%*=7,120
4.54 x 10% = 454 2.522 x10%*=2,522
2.0596 x 10° = 2,059.6 2.953 x 10°* = 2,953
5.3284 x 10° = 5,328.4 1.466 x 10' = 14.66
0.46 X 10 =4.6 0.7 x 10° =700

2.207 x 10* = 220.7 5.1x10'=51

5.938 x 10" = 59.38 8.4 x 10' = 84
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